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01 HIXNHHNBHNEES 204,000 204,000 0
O3t 204,000
St AX & 1,464,460 1,945,280 A 480,820
308 XXM SOIA 1,464,460 1,945,280 A 480,820
01 IXNHHBANEES 1,464,460 1,945,280 A 480,820
OIt=E =Y o8 XA 219,040
OWIIE =&Y oeges XA 211,600
OL MEsIH d=H X 450,000
OS0LA A MBAEHIE XA 62,700
OFHMS dYgEE I+ N 25,000
OAJE =AY e X 290,000
OAl Z2M 2AHAD| QeSS FHEH 60,000
OEFIIE MY R/AUFS 2Lg - ISXE 60,000
OdtE »HL XA 32,120
OLEslt 83EA= ZXH XA 30,000
OclE HHEEY HeEds XA 24,000
NELAANELXNA 102,000 191,000 A 89,000
403 MtXISHH S0l & 102,000 191,000 A 89,000
01 HXISHMA =2 102,000 191,000 89,000
OF&sIt 2SAI4 X 102,000
=28 g 2 38 4¥F 7Y E N 17,576,090 16,599, 852 976,238
= 14,643,351
< 2,932,739
308 XtXIEHH SOl A 17,576,090 16,599, 852 976,238
= 14,643,351
< 2,932,739
01 IXNHHBANEES 17,576,090 16,599, 852 976,238
OIELAAY 3,224,054
= 2,792,594
< 431,460
Ox EZ24det HEESEHI 835,000
= 501,000
< 334,000
OGHX WZHOlH A BHAl 2,430,720
= 2,025,600
< 405,120
OHA 2288 Xz XA 195,000
= 150,000
< 45,000
OFHS olgteal X & 6,622,570
= 6,099,737
< 522,833
OXgE 6Ps & Saldl X& 517,374
= 397,980
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T 119,394
OsS¢9 Jraedl 19,500
= 15,000
S 4,500
OFHMS HLES A=t X 1,144,975
- 880,750
=) 264,225
OFME BHAFRS AEA 23HH X 297,297
= 228,690
£ 68,607
OJtasitEgzel 156,000
= 120,000
T 36,000
OFHMS, Al BHSX A= 2t 540,000
= 360,000
S 180,000
OFHM<, Al 2elJ12t oMl OHS X A= 2t 1,500,000
= 1,000,000
= 500,000
O TEJ SSYHM NAAE 93,600
= 72,000
S 21,600

AXEEYS 4,500,000 4,500,000 0
= 4,000,000
= 500,000

308 AtXIEHHMSO0I™ 4,500,000 4,500,000 0
= 4,000,000
= 500,000

01 HXHHBAEES 4,500,000 4,500,000 0
OJ=dgY &Mz 2d=s NE 4,500,000
= 4,000,000
< 500,000

gAXE & 2E JAEH S NS 1,315,880 379,160 936,720
= 1,010,400
S 305,480

403 TtXI M S A=01A 1,315,880 379,160 936,720
= 1,010,400
£ 305,480

01 X SHHA =22 & 1,315,880 379,160 936,720
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= 25,000
=) 7,500
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ONBHEALSAE 1,143,480
= 879,600
< 263,880
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& 770,400
SSYHE 29 2,029,571 1,325,640 703,931
Dl 1,561,211
& 468,360
308 AAXISHAMSOIA 2,029,571 1,325,640 703,931
Jl 1,561,211
& 468,360
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T 468,360
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OSHE=22Y & A=5HE NA 2,730,000
= 2,100,000
= 630,000
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